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Aufgabe 2.1:

2Fi=00 D2 Fi=00 Mg=3 M =0

A =211-F; A =-15-F; B, =465-F

Aufgabe 2.2:

a) Funktionsgleichung der Last: q(x) = 2,5k—N (
m

Betrag der resultierenden Kraft R:

=)

=15kNm

1=6,0 2 |
R= |qg(x)dx = 2,5k—N-x—2,5k—N-X— =7,5kN
0 m m 2| .
Lage von R:
qu(x) dx
X, =%—
[a(x)dx
1=6,0 2 3 |
qu(x)dx = 2,5k_N.X__2’5k_N.X_
o m 2 m 3l o
X, = 15kNm _ 2.0m
7,5kN
b) Funktionsgleichung der Last: q(x) = 2,5kFN (
Betrag der resultierenden Kraft R
' kN x° ]
R= jq(x) dx=|25— | =5kN
0 m 3I° |,
Lage von R:
'[xq(x) dx
X =

S Jq(x)dx
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Aufgabe 2.3:

a)

.([x.q(x) dx = {Z,SW-W

S

_ 22,5kNm
5kN

kN x“}

=45m

= 22,5kNm

0

4 5

[ A Z, Z,- A

1 1000cm? 10cm 10000cms?

2 -50cm? 6,67cm? -333,33cm?

3 -50cm? 6,67cm? -333,33cm?

4 -39,27cm? 10cm -392,7cm?3

5 -39,27cm? 10cm -392,7cm?3

6 -200cm? 10cm -2000cm?
Xi- >3-

621,46cm? 6547,93cm3

¥, =0 (wegen Symmetrie)

Z

S

Z(zi Al)
2A

=10,54cm
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b))

NI

Y, =168cm

Z, =91cm

Y




